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— ~ Compute the correct answer(40%)

1. Laman’s Corporation has two products in its ending inventory, each accounted for
at the lower of cost or market. A profit margin of 20% on selling price is
considered normal for each product. Specific data with respect to each product

follows:

Product A Product B
Historical cost $30 $40
Replacement cost 34 42
Estimated cost to dispose 10 20
Estimated selling price 50 80

In pricing its ending inventory using the lower of cost or market, what unit values
should Laman’s use for products A and B respectively ?

2. Karlong Co. purchased land as a factory site for $200,000. Karlong paid $18,000 to
tear down two buildings on the land. Salvage was sold for $2,500. Legal fees of
$1,200 were paid for title investigation and making the purchase. Surveying before
construction cost $800. Architect’s fees were $15,600. Title insurance cost $1,000,
and liability insurance during construction cost $1,500. Excavation cost $3,000.
The contractor was paid $850,000. An assessment made by the city for pavement
was $3,200. Interest costs during construction were $50,000. What amount should
be recorded by Karlong Co. for land and buildings respectively?

3. Port House’s checkbook balance on December 31, 2002 was $28,500. In addition,

Port House held the following items in its safe on December 31.

(1) A check for $900 from Peterson, Inc. received December 30, 2002 which was
not included in the checkbook balance.

(2) An NSF check from Gaffner Company in the amount of $1,200 that had been
deposited at the bank, but was returned for lack of sufficient funds on
December 29. The check was to be redeposited on January 3, 2003. The
original deposit has been included in the December 31 checkbook balance.

(3) Coin and currency on hand amounted to $2,000.

What amount should be reported on Port House’s balance sheet for cash at

December 31, 2002?

4. The Fizz Corporation inaugurated a new sales promotional program. For every 10

bottle caps returned to Fizz, customers receive an attractive prize. Fizz estimates
that only 50% of the bottle caps reaching the consumer market will be redeemed.
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Additional information is as follows:

Units Amount
Sale of bottles 2,000,000 $600,000
Prizes purchased by Fizz 110,000 82,500
Prizes distributed to customers 39,000

At the end of its year, Fizz recognized a liability equal to the estimated cost of
potential prizes outstanding. What is the amount of this estimated liability?

5. On October 1, 2002, Album Co. purchased 200 of the $1,000 face value, 10%
bonds of Acer, Inc., for $280,000, including accrued interest of $5,000. The bonds,
which mature on January 1, 2009, pay interest semiannually on January 1 and July
1. Album used the straight-line method of amortization and appropriately recorded
the bonds as a long-term investment. What amount of the bonds should be reported
on Album’s December 31, 2003 balance sheet?

6. The 12% bonds payable of Sowa Co. had a carrying amount of $336,000 on
December 31, 2002. The bonds, which had a face value of $300,000, were issued at
a premium to yield 10%. Sowa uses the effective interest method of amortization.
Interest is paid on June 30 and December 31. On June 30, 2003, several years
before their maturity, Sowa retired the bonds at 106 plus accrued interest. What is

the extraordinary gain on retirement?

7. At December 31, 2003, Triple Company had 450,000 shares of common stock
outstanding. On September 1, 2004, an additional 150,000 shares of common stock
were issued. In addition, Triple had $10,000,000 of 8% convertible bonds
outstanding at December 31, 2003 which are convertible into 300,000 shares of
common stock. The bonds were not considered common stock equivalents at the
time of their issuance and no bonds were converted into common stock in 2004,
The net income for the year ended December 31, 2004, was $5,000,000. Assuming
the income tax rate was 30%, what should be the fully diluted earnings per share
for the year ended December 31, 2004, rounded to the nearest penny?

8. Downhill Co. has outstanding 20,000 shares of 10% preferred stock with a $10 par
value and 100,000 shares of $3 par value common stock. Dividends have been paid
every year except last year and the current year. Assuming that $130,000 will be
distributed, and the preferred stock is cumulative and fully participating, how much
will the common stockholders receive?
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9. Anderson, Bates, and Marks were partners with capital account balances of $62,000,
$38,000, and $20,000, respectively, and shared income and losses in a 1:2:2 ratio.
The partners decided o liquidate their firm when its assets consisted of $8,000 cash
and $124,000 of other assets, and liabilities were $12,000. The other assets were
sold for $44,000 and the liabilities were paid. Assuming that any partner
developing a debit balance in his/her capital account was unable to pay the

deficiency, how much would Anderson receive?

10. Cooper company received $40,000 in cash and a used machine with a market value
of $360,000 from Sloan Corporation for Cooper’s existing machine having a
market value of $400,000 and an undepreciated cost of $320,000 recorded on its
books. How much gain should Cooper recognize on this exchange, and at what
amount should the acquired machine be recorded, respectively?

= ~ Define the following items and compare the difference(20%)

1. Subsequent event & Contingency

2. Compensating balance & Bank overdraft

3. Watered stock & Treasury stock

4. Relevance & Reliability

5. Off-balance sheet financing & Income manipulation
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N (20%) Presented below are the comparative balance sheets for Dennis Weigle Company as
of December 31.

DENNIS WEIGLE COMPANY
Comparative Balance Sheets

December 31

Assets 2002 2001

Cash $ 39,000 $ 45,000
Accounts receivable 49,500 52,000
Inventory 151,450 142,000
Prepaid expenses 16,780 21,000
Land 100,000 130,000
Equipment 228,000 155,000
Accumulated depreciation—equipment (45,000) (35,000)
Building 200,000 200,000
Accumulated depreciation—building (60,000) (40,000)

$679,730 $670,000

Liabilities and Stockholders’ Equity

Accounts payable $ 38,730 $ 40,000
Bonds payable 250,000 300,000
Common stock, $1 par 200,000 150,000
Retained earnings 191,000 180,000

$679,730 $670,000

Additional information:

1

6.

1.

Operalting expenses include depreciation expense of $42,000.

2. Land was sold for cash at book value.
3.
4
S

Cash dividends of $27,000 were paid.

. Net income for 2002 was $38,000.
- Equipment was purchased for $95,000 cash. In addition, equipment costing $22,000 with a

book value of $10,000 was sold for $8,100 cash.

Bonds were converted at face value by issuing 50,000 shares of $1 par value common
stock.

Net sales for 2002 totaled $420,000.

Instructions

(1) Prepare a statement of cash flows for the year ended December 31, 2002, using the indi-

rect method.

(b) Compute the following cash-basis ratios for 2002.

(1) Current cash debt coverage ratio.
(2) Cash return on sales ratio.
(3) Cash debt coverage ratio.




